Warm Up. Copy Question, Solve and Put answers

1. Which statement about rational numbers is true?
/6 Rational numbers can’t be written as a ratio. ¥

Rational numbers are numbers that can be written as ratios of two integers where
zero is the denominator. §

Rational numbers are numbers that can be written as the ratio of two integers where
zero is not the denominator. A ratio can be expressed as a fraction.

,6 Rational numbers can't be expressed as a fraction. F

2. Sammy worked late, so he decided to go out to eat at his favorite restaurant. His meal
cost $22.56. The tax on the bill was 8.25%. Sammy left the waiter a 12% tip that
included tax. Which expression below can be used to represent the tip Sammy left?

@@ 0.12[$22.56 + (0.0825-$22.56D —B)0-12{$22 56+ {0-0825-+$0-825)—
® 0.825[$22.56 + (0.12+ $22.56)] D—0-121522.56+1$22-56+52256)}
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Rules for Multiplying Integers:

Use the eraser to reveal the results.

Even number of negatives = Positive
Odd number of Negatives = Negative

Positive x positive = positive

+ x + = +

Negative x negative = positive




Try some.

Find the products - move the positive and negative to
remind you of the rule.

_ 5 X (_4) = 0 Positive -+

Negative =
-5 x 4=- g

6 x (-7)=-13




Rules for Dividing Integers:
Use the eraser to reveal the results.

(

Even number of negatives = Positive
Odd number of Negatives = Negative

Positive = positive = positive

+ + + o+

Negative ——negative = positive




Try some.

(" Find the quotients - move the positive and negative to
remind you of the rule!

48 + 6=— &
Positive =

24 + =~ Y4 Negative =




Introduction:

Practice w ith Word Problems

figuring an offensive team’s total yardage gained is not just a cas
adding up the numbers.

Players make positive plays, such as yards gained rushing and yargs
gained passing.

They also make negative plays, such as yards lost g or yard
on a quarterback sack.

There are also penalties; they work both ways.

ame situations and figure the total yards

Examine the followin




In one game the San Diego Chargers gained 187 yards rushif
and 458 passing. Butthey had 211 yards of penalties agains

the offense.

How many total yards did they gain that night?

(3N +Usg -211

L4 azm




The price of a stock market decreased 2 per day for four
consecutive days. What was the total change in value of
the stock market over the four-day period?

Ll (-—Z) =-3
There 15 a cjecrecxsc of

43.




